Chapter  1 Test Review Answers
1.  y = -2x + 4

2. A)  m1 = 1/2   m2 = -2; perpendicular

B)  m1 = -12/7   m2 = -1/8; neither

C)  m1 = -1/2   m2 = -1/2; parallel

3. y = 1/2x + 31/2  (parallel);    y = -2x – 7  (perpendicular)

4. m = 0; y = 9

m = undefined; x = -7

5. a)  No

b)  Yes

6. a)  f(3) = 20

b)  f(5) = 618

7. a)  (-∞,-4)U(-4,∞)
b)  (-∞,∞)

c)  [4,∞)

8. Increasing Intervals:  (-∞,-1.87) and (0,1.87)

Decreasing Intervals:  (-1.87,0) and (1.87,∞)

Maximum:  12.25

Minimum:  0

y-intercept:  0

x-intercepts:  -2.65, 0, 2.65

9. Domain:  (-∞,-1)U[1,∞)

Range:  (-∞,6)

10. a)  Dilation stretch of 2

b)  Left 1, down 4

c)  Reflection over the x-axis, Dilation stretch of 3, right 1, up 2
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        (Plot the points that are in white for the graph)
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12.  g(x) = 5x-2

 f(x) = 4x5
13. y = 14.45x + 2.43
